60-s bins

06+
2024-032%634-03-20)3.032

00,0
6:0 :00.
2020-03293030-03-203330.03

o N B O ©

2024-03

o N e (=] ©
1

o N e (=] ©
1

il e L B

100,000 030,000 ‘
00 20108:09 0:\;%)%?_%3.20’\'11-

Time (utc)

60-s bins

N [h ¢l 4 e o

00.000 14:00.000.

00 00: .
08 ’20-—‘;%)%#03‘20-‘—12'

Time (utc)

60-s bins

N 190 ) e Y g e
.00.000 1.50.000 .50.000
.00:00:09%,.40:00. -00:00- .
ZOE%EZ’A‘O's_205%%A_03_20"\;%)%A_03_20'\'11
Time (utc)

:00.000 15.00.

00:00-

00:00-

000

000

000

Latitude

Latitude

Latitude

| | | |
N o N N o N
o »n o u o o »n o U o

| |
N o N
o »n o u o

31002002012 FPMA: No SAA Filter
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31002002012 FPMA: No SAA Filter
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